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1. An isolated synchronous generator with transient reactance equal to 0.1 pu on a 100MVA base is connected to the high voltage bus
through a step up transformer of reactance 0.1 pu on a 100 MVA base. The fault level at the bus is :
(A) 1000 MVA (B) 500 MVA (C) 100 MVA (D) S50MVA
2. An amplifier circuit has an overall current gain of -100 and an input resistance of 10KQ with the load resistance of 1KQ. The overall
voltage gain of the amplifier is:
(A) 5dB (B) 10dB (C) 20dB (D) 40dB
3. A four bit modulo 16 ripple counter uses JK flip-flop. If the propagation delay of each flip-flop is 50ns, the maximum clock frequency
that can be used is:

(A) 20MHz (B) 10 MHz (C) 5 MHz (D) 4 MHz
4. If the characteristic equation of a closed-loop system is s’ +2s +2=0, then the system is :
(A) Over damped (B) Critically damped (C) Under damped (D) Un —damped

5. In a 400 kV power network, 360 kV is recorded at a 400 kV bus. The reactive power absorbed by a shunt reactor rated for 50 MVAR,
400 kV connected at the busiis :

(A) 61.73 MVAR (B) 55.56 MVAR (C) 45.0 MVAR (D) 40.5 MVAR
6. The magnitudes of the open circuit and short circuit input impedances of a transmission line are 100 Q and 25 Q respectively. The characteristic
impendance of the line is : (A) 25 Q (B)
50Q (Q75Q (D) 100 Q
7. Two parallel wires separated by a distance ' d ' are carrying a current ' | ' in the same direction. The magnetic field along a line parallel to these
wires and midway between them :

(A) Depends upon | (B) Is zero (C) Depends upon d (D) Depends upon the permeability of

medium between them
8. In the magnetising current component of the no-load current of an induction motor is much larger than that of a corresponding transformer
because of :
(A) Additional friction and winding loss in motor (B) Different winding configuration on stator
(C) Increased flux requirement (D) An air gap in the magnetic circuit

9. A transformer designed for operation on 60 Hz supply is worked on 50Hz supply system without changing its voltage and current ratings. When
compared with full load efficiency at 60 Hz, the transformer efficiency on full load at 50 Hz will:
(A) Increase marginally (B) Increase by a factor of 1.2 (C)Remain unaltered (D) Decrease Marginally

10. The hot resistance of the filament of a bulb is higher than the cold resistance because the temperature co-efficient of the filament is:
(A) Negative (B) Infinite (C) Zero (D) Positive
11. If the applied voltage of a certain transformer is increased by 50% and the frequency is reduced to 50% (assuming that the magnetic
circuit remains unsaturated), the maximum core flux density will :
(A) Change to three times the original value (B) Change to 1.5 times the original value
(C) Change to 0.5 times as the original value (D) Remain the same as the original value

12. The power factor of a squirrel cage induction motor is
(A) low at light load only. (B) low at heavy load only. (C) low at light and heavy load both. (D) low at rated load only.

13. A two-winding single phase transformer has a voltage regulation of 4.5% at full-load and unity power-factor. At full-load and 0.80
power-factor lagging load the voltage regulation will be
(A) 4.5%. (B) less than 4.5%. (C) more than 4.5%. (D) 4.5% or more than 4.5%.
14. The eddy current loss in an a-c electric motor is 100 watts at 50 Hz. Its loss at 100Hz will be
(A) 25 watts (B) 59 watts (C) 100 watts (D) 400 watts
15. A 1.8°step, 4-phase stepper motor has a total of 40 teeth on 8 pole of stator. The number of rotor teeth for their rotor will be
(A) 40 (B) 50 (C) 100 (D) 80
16. A salient pole synchronous motor is running at no load. Its field current is switched off. The motor will
(A) come to stop. (B) continue to run at synchronous speed.
(C) continue to run at asspeezd slightly more than the synchronous speed. (D) continue to run at a speed slightly less than the synchronous speed.

17. For the equation, s - 4s +s + 6 = 0 the number of roots in the left half of s-plane will be

(A) One (B) Two (C) Three (D) Zero
18. HVDC Transmission is mainly used for
(A) transmission of Bulk power over a very long distance (B) inter-connecting two systems with same nominal frequency

(C) eliminating reactive power requirement in the operation (D) minimizing harmonics at the converter stations

19. Usually in a thermal power plant the amount of good quality coal required to Generate lunit of energy is
(A) Less than 700 gm (B) Greater than 700 gm (C) Greater than 1kg (D) None of these.
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20. The transistor circuit shown uses a silicon transistor with VBE = 0.7 V, IC = IE and a dc current gain of 100. The value of VO is

+10V
10k 50k
V’J
10002
(A) 4.65A (B) 5V (C) 6.3V (D) 7.23V
21. An average reading digital multi-meter reads 10V when fed with a cosine wave. For the same input an rms meter will read:
(A) 20/ V2 v (B) 10/ V3V (C)20V3V (D)11.1V

22. A field excitation of 20A of a certain alternator results in an armature current of 400 A in short circuit and a terminal voltage of 2000
V on open circuit. The magnitude of the internal voltage drop within the machine at a load current of 200 A is:

(A)1V (8) 10V (C) 100V (D) 1000 V
23. A PLC is capable of
(A) Counting, and calculating analog signals (B) Comparing analog signals (C) Processing analog signals (D) All of the above
24. A PLC is used to control (A) Batch process (B) Manufacturing process (C) Industrial process (D) All of the above
25. The programming device in a PLC can be
(A) An LCD hand-held device (B) A video display unit with keyboard (C) Either (a) or (b) (D) None of the above
26. In the RUN/PROGRAM mode of a PLC
(A) The program cannot be completely erased (B) The program can only be modified
(C) Both (a) and (b) can be done (C) Either (a) or (b) can be done
27. The main function of a ladder logic diagram program is
(A) To control inputs based on the output conditions (B) To control outputs based on the input conditions
(C) Both (a) and (b) (D) None of the above
28. In a transformer the voltage regulation will be zero when it operates at
(A) Unity power factor (B) Leading power factor (C) Lagging power factor (D) Zero power factor
29. The emf induced in the primary of a transformer
(A) Is in phase with the flux (B) Lags behind the flux by 90 degree (C) Leads the flux by 90 degree (D) Is in phase opposite to that of flux
30. The current from the stator of an alternator is taken out to the external load circuit through
(A) Slip rings (B) Commutator segments  (C) Solid connections (D) Carbon brushes
31. A motor which can conveniently be operated at lagging as well as leading power factor is the
(A) Squirrel cage induction motor (B) Wound rotor induction motor (C) Synchronous motor (D) DC shunt motor
32. The most suitable servomotor for low power application is
(A) A DC series motor (B) A DC shunt motor (C) An AC two-phase induction motor (D) An AC series motor
33. The rotor power output of a three phase induction motor is 15 kW and the corresponding slip is 4%. The rotor copper loss will be
(A) 600W (B) 625W (C) 650W (D) 700W

34. A step-up chopper is fed from a 220V dc source to deliver a load voltage of 660V. If the non-conduction time of the thyristor is
100us, the required pulse width will be
(A) 100ps (B) 200us (C) 220ps (D) 660ps
35. Four alternators, each rated at 5SMVA, 11kV with 20% reactance are working in parallel. The short circuit level at the bus bars is
(A) 6.25MVA (B) 20MVA (C) 25MVA (D) 100MVA
36. A three phase 11/66kV, delta-star transformer, procted by Merz-price scheme has CT ratio of 400/5 on L.T.side. Ratio of C.T. On
H.T.side will be equal to : (A) 1:23 (B) 23:1 (C) 23:v3 (D) v3:23

37. The insulation resistance of a 20km long underground cable is 8MQ. Other thing remain the same, the insulation resistance of a
10km long cable will be : (A) 16MQ (B) 32MQ (C) 4MQ (D) 2MQ
38. In which one of the following modes of operation, shift register ceases to work as a shift register?
(A) SISO (B) SIPO (C) PISO (D) PIPO
39. The peak input voltage to a bridge rectifier is 1000V at 5Hz. The dc output voltage and ripple respectively are
(A) 318V & 50Hz (B) 318V & 100Hz (C) 636V & 50Hz (D) 636V & 100Hz

40. Two 3-limb, 3-phase delta-star connected transformers is of Dyl and the other is of Dyll connection. The phase difference between the
corresponding phase voltage of the secondaries would be (A) o° (B) 30° (C) 60° (D) 120°
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ANSWER THE BELOW QUESTION

Q1: What do | comprehend by sales and marketing?

Q2: Why do I intend to build a career in sales and marketing?

Q3: Why do | consider myself fit for sales and marketing job?




